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’ 100kN/m%#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/ Mm% % % — -~ — —|3m%EEZD -~ — — —
ZzhnLst 1.00| 0.00 ~ 439 5480 | #nlist | 000 ~ 439 1.96 9.90 zhnLst 1.00| 500 ~ 5.00 5480 | #nlist | 5.00 ~ 500 | 1.96 9.90
9 100kN/m#%E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/ Mm% % % — -~ — —|3m%EEZD -~ — — —
zhnLst 1.00| 0.00 ~ 5.05 62.91 | Znlls | 000 ~ 0.00| 1.68 8.50 zhnLst 1.00| 500 ~ 540 6291 | Znllst | 500 ~ 540 1.68 8.50
3 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/ Mm% % % — -~ — —|3m%EEZD -~ — — —
zhnLst 1.00| 0.00 ~ 6.20 7789 | #nist | 000 ~ 6.20 | 1.78 9.01 zhnLst 1.00| 500 ~ 7.20 7789 | Fnlist | 5.00 ~ 7.20| 1.78 9.01
4 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/ Mm% % % — -~ — —|3m%EEZD -~ — — —
zhnLst 1.00| 0.00 ~ 4.70 58.60 | #nList | 0.00 ~ 0.00 | 1.64 8.27 ZzhnLst 1.00| 500 ~ 5.00 58.60 | #nList | 5.00 ~ 500 1.64 8.27
5 100kN/m#&#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/ Mm% % % — -~ — —|3m%EEZD -~ — — —
ZhLs — -~ — —| EhLst -~ — — — ZhLsh — -~ — —| EhLst - ~ — — —
6 100kN/m#&#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/ Mm% % % — -~ — —|3m%EEZD -~ — — —
ZhLs — -~ — —| EhLst -~ — — — ZhLsh — -~ — —| EhLst - ~ — — —
; 100kN/m#&E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/ Mm% % % — -~ — —|3m%EEZD -~ — — —
ZzhnLst 1.00 | 0.00 ~ 480 59.86 | 14t | 000 ~ 4380 222 11.20 ZzhnLst 1.00| 500 ~ 740 59.86 | 14t | 5.00 ~ 7.40| 2.22 11.20
g 100kN/m#&E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/ Mm% % % — -~ — —|3m%EEZD -~ — — —
zhnLst 1.00] 000 ~ 4.11 5146 | Znllst | 000 ~ 4.11| 2.04 10.33 zhnLst 1.00| 500 ~ 5.00 5146 | Znllst | 5.00 ~ 500 | 2.04 10.33
100kN/m%#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLs ~ FhLs ~
100kN/m%#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLs ~ FhLs ~
100kN/m%#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLsh ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m%#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m#&E#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLs ~ FhLs ~
100kN/m#&#BZ % ~ IMEHEZD ~ 100kN/m#%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m#E#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
Zh s ~ Fh s ~ ZhLs ~ FhnLs ~
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